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SN S
HE: S50 29
Ol DIAIS A 2Y(SS0) (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SEH 311,729 323,841 N 12,112
sSsH 29 249,488 266,531 A 17,043
HASRA 2YA(ss9H) 249,488 266,531 N 17,043
ESSH FOU=RAAY 50,000 50,000 0
401 Al HI YL =2 Tl 50,000 50,000 0
01 Al&HI 50,000 50,000 0
O ARDFOU=SSAALY 50,000
SSH A2 AKX 13,840 12,840 1,000
201 gEt24d| 3,500 3,500 0
03 A2 G HI 3,500 3,500 0
OAIHM=EUE L 2ASEHA 3,500
301 LBt A= 10,340 9,340 1,000
10 HALAHI 2 A2 9,340 9,340 0
OANMOXM=UE L ASHA 3,500
OHoIEZEUHE 20,000 x25H 500
Ogolo U 1,500,000& «13] 1,500
O1AF 1E& A 1,000,000 13| 1,000
O=&H 20,000¥ x50 1,000
ool ()Y dsdtsl 40,000 »26H 1,040
OJ|EFSHE A} 20,000& »40H 800
12 J|EtE & =2 1,000 0 1,000
OsAdX 1,000
SsH ANAsdEHl) 24 5,939 5,939 0
301 et A= 5,939 5,939 0]
04 AIsHHHISFH| 5,939 5,939 0
O0FAI HI 2,500 2% %3652 1,825
OXt s Xdl 3,000
OddJlz 6,000 x12& 72
@)%E=1:] 1,305 %24 150 392
O=Aze KX bl 150
OXsgtdil 29| 500
E==EH S2BE 29 87,630 87,630 0
301 et A= 87,630 87,630 0
S E -2 -BEEESENZ 87,630 87,630 0
oJlgx4 200,000 *26H x12& 62,400
oa3 200, 000€ *26H *200% 10,400
O3 o &A= 20,0003 *x26H x23| x12& 12,480
Ot E A2 25,000 47 x23| 2,350
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SsH FAtzel 92,079 110,122 A 18,043
101 @124 dl 5,628 5,586 42
04 DIt 22 XREES 5,628 5,586 42
O z2Z=x4 60,5403 x5 .3km*5H 1,605
OE2H ZHIJ| 60,5403 *9.3km*3H 1,690
OgdAY 12 38,880 x1H +x60 2,333
201 L2l 35,615 34,700 915
01 At 221l 17,115 14,700 2,415
Oget=&H| 12,000
O= 2l 1,200
Osss+ giz 1,500
OFAL A8 AE|ZEA 2,415
02 =224l 18,500 20,000 A 1,500
Oz3&22= & HA 8,000
Ozl 4,000
OAIE ZHI S X 2,000
O Xt 4,500
206 M= Hl 7,436 7,436 0
01 =8l 7,436 7,436 0
O Z22UXY 500
ogdALrs RFHI(ZER) 1,785&+3,5004 6,248
OgdLs RFU(ALR) 1,965% *3504 688
307 glz2+ol & 2,400 2,400 0
05 RIZtE = 2,400 2,400 0
OF ARl &I 100,000 x 10§ 2+ 12& 1,200
O=Xg &2 HH 100,000& 10 A %123 1,200
401 Al Bl 28I 40,000 60,000 A 20,000
01 A& HI 40,000 60,000 220,000
OBMEA ZFE FHHISA 15,000& *2,000m 30,000
OBAMEA EE EF3A 10,000
405 XHoHF S HI 1,000 0 1,000
01 HatL ESFH S 1,000 0 1,000
O=Xs& TV 2LH 7Y 1,000,000& = 1CH 1,000
HF2F A 62,241 57,310 4,931
ol 2YH(ssH) 25,086 22,260 2,826
ol (5SH) 25,086 22,260 2,826
101 14 Hl 25,086 22,260 2,826
03 RIAHAZZ2 T2+ 25,086 22,260 2,826
ogeEx(1y) 25,086
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SEESPES=N

SA - ZE-B(EA) - NRAY - B S il
=2s 1,015,740 «122 12,189
&0z 12,188,880% / 12& *400% 4,063
wns=2xl 120,000& =123 1,440
Mz AlH| 130,000& =128 1,560
NE-EE S
6, 1543 «15A 2t*1. 58 =128 1,662
HEFOHHI(E ., F=4) 1,015,740& «120% 1,219
S OFE &Y 49,2303 x10 493
DaAct 1,500
IE2G (IR, 221, XHE1) 960
2dd(ss¢) 37,155 35,050
2Ztl(ssY) 37,155 35,050
201 et 2,875 2,850
01 At 2teltl 2,875 2,850
Os2Y Hu=2 =4 25,0002 115 2,875
202 Odl 19,200 19,200
01 = LHAYI 1,200 1,200
O =L HI 150,000 x2H x4 3] 1,200
02 X 18,000 18,000
O A 150,000& x10E »12& 18,000
203 B R =&l 10,080 10,080
01 J22F P2 =8| 6,600 6,600
osa 6,600
02 A H 2= 480 480
OFAIMHRE T 40,0008 12 480
04 EANSIHRF=EHI 3,000 3,000
ORN2IYSZ=AHI 250,000& 128 3,000
405 RHoHE S HI 5,000 2,920
01 AL EZFH S 5,000 2,920
OAMEA et WM #& 5,000,000 «1CH 5,000




